—BE A | #F B

OF tHEAGIHK B #F A

=x=
i

- 4

Jd—)IEF-LyF-EVIDE
FH6FIA 148

g $f K A ouT | IN |[TOTAL|HDCP| NET
& B B =85 41 40 | 81 20 61
B bk AL 43 | 40 | 83 | 16 67
3 fi FIEF —R 39 | 47 | 86 17 69
4 i ISP #05h 41 45 86 15 71
5 {if 8H BR=E 4 | 471 | 91 19 72
B-G Bl =88 41 40 | 81
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g $f K 4 ouT IN [TOTAL|HDCP | NET
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B NI 37 | M 78 13 65
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4 fu FIER &2 40 | 34 | 74 8 66
5 fi I = 39 39 78 12 66
B-G AN E= 34 34 68
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g $f K 4 ouT IN [TOTAL|HDCP | NET
& B & #F{- 39 | 35 74 10 64
#EEB it R 34 | 40 | 74 10 64
3 i AW B 41 40 81 12 69
4 i ILA & 0 | A 81 12 69
5 {u I EEA 40 40 80 9 71
B-G e £ 39 35 74
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g $f K 4 ouT | IN |[TOTAL|HDCP| NET
& B TH & 45 | 43 | 88 | 25 63
B THEE 44 | 44 | 88 | 24 64
3 i EH = 47 | 42 | 89 | 24 65
4 fi #® & 48 | 48 | 96 | 30 66
5 fi il E— 49 | 39 | 88 | 21 67
B-G A Al 41 42 | 83
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